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a) When is the particle moving to the right? Justify your answer?

b) When is the particle moving to the left? Justify your answer.

c) When is the particle stopped? Justify your answer.

d) When is the acceleration negative. Justify your answer.

e) When is the acceleration positive? Justify your answer.

f) When isthe acceleration undefined. Justify your answer.

g) When is the acceleration zero. Justify your answer.

h) When is the speed of the object decreasing? Justify your answer.

i) When is the speed of the object increasing? Justify your answer.
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